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MARKS
Total marks — 55

Attempt ALL questions

1. A line passes through the point (0, 4) and makes an angle of 30° with the positive
direction of the x-axis as shown in the diagram.
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Determine the equation of the line.

2. A sequence is defined by the recurrence relation �
�

��
�Q QX X�  �  with � ��X  .

(a) Calculate the value of u2.

(b) (i) Explain why this sequence approaches a limit as Qof.

(ii) Calculate this limit.

3. Given that � ���� �\ [ � , find 
G\
G[ .

4. P and Q have coordinates (�6, 1, 2) and (�1, 11, �8) respectively.

Find the coordinates of the point R which divides PQ in the ratio 2:3.
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